Division par 10~ (E)

51 +-10"1=

66+ 1071 =

18 =+ 1071

61+ 107"

84 + 107! =

11+-101=

63+ 1071 =

34 +107' =

1+10"1=

21+1071=

Trouvez chaque quotient.

25 +10"1=

9+107 =

55+10"1=

35 +10"1=

80+ 107t =

89 - 107! =

28 +~107 1=

94 +~ 107t =

76 - 107! =

88+~ 107!t =
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Division par 10~ (E) Solutions

51+10"1=510

66 ~ 1071 =660

18 +1071=180

61 +10"'=610

84 + 1071 =840

11+10"'=110

63+ 1071 =630

34 + 1071 =340

1+-10"1=10

21+10"1t=210

Trouvez chaque quotient.

25 +1071=250

9+10"1=90

55+ 101 =550

35+ 10"'=350

80 + 107 =800

89 - 10" =890

28 + 1071 =280

94 + 1071 =940

76 ~ 1071 =760

88 +~ 1071 =880
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